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ASSIGNMENT -1

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. Discuss the various techniques of control.
SR iq68T LLGaIM HIL LRGN aNeims.
2. What is leasership? Discuss in detail, the blake and mounton’s managerial grid.
HEMEVEDLD €TEIIMTEL  6T6oT601?  GloeLMeinIemNGG NGerd  OHMID  CneaTGL MeaTedlsaT LIMISeMiLNemeot
Nen&G 6.
3. Discuss the step involved in a selection procedure.
Qgafley menL (PemmUNstT Lighleneugenem eNend@s.
ASSIGNMENT =2

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. Explain the steps involved in the process of controlling.
&L (HUUmiget LLGaIm LigHleneusenen elensEs.
2. Explain “Social Audit” in detail.
FPS H0NGmS - aifleuns aNenéEs.
3. Discuss the various types of communication
5&6U6L QSN LeLCeumI euemSSHenen exleur.
ASSIGNMENT -3

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. What are the advantages and disadvantages of Management by Objectives?
@es @l GuersmrsnioulleT HeTsm ST WITene?

2. Define Motivation. Describe its characteristics.
QEWwYTSHSLD CTETLIMS EUMTLNISHS, I|SEIGDLI @IS 66T EsS.

3. Explain the techniques of Total Quality Management.
RLO CQurss sr G KamissmsameT allerd@s.
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ASSIGNMENT -1

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. Distinguish between Fund Flow Statement and Cash Flow Statement.
Qrrés pLwum’ L gyflsmas@h Hldl prwumn’ L gyfsmads@h 2 aTer Coumurhismens & mis.

2. The standard material cost for 100 kg of chemical D is made up of:

Chemical A - 30kg @ Rs.4 per kg
Chemical B - 40kg @ Rs.5 per kg
Chemical C - 80kg @ Rs.6 per kg

In a batch, 500 kg of chemical D were produced from a mix of :
Chemical A - 140 kg at a cost of Rs.588
Chemical B - 220 kg at a cost of Rs.1056
Chemical C - 440 kg at a cost of Rs.2860

How do the yield, mix and the price factors contribute to the variance in the actual cost
per 100 kg of chemical D over the standard cost?

100 dl.dlrmd 2 pusdlsars Camau@d sFeriCurmar undw, Caudlliurmeflear S
L Saealleme dpaimLommy:

GCoudlli@ummer A — 30 &1.8 e.4 e Sl.ErminG
CaudliGur et B — 40 &8l e5.5 (5 Sl.Slymiling
Coudl@umrmer C - 80 &8l em.6 @ l.Elymblng

500 &lymd CeudliQurmet Swiry Qau CHmeulLGiDd 2 TEMLILITET Sesmel SLpaIHLTN:

CoudliQummer A - 140 dl.dlymilesr g_saealemen  o5.588
Coaudll@ummer B — 220 Sl.dlymblesr gL s&ealsme  er.1056
Ceudlli@ummer C - 440 &l.&lrmblesr gL Sselemen  e5.2860

@\ Flemhg emarsg epaliQUTHaT LTHUTHSMETE ST aLd.

3. Define Budgetary Control. Explain the role of budgeting in financial control.
aurel-Gaaayd SiLs sl @UUT g6 oyl §hs. Hdlss HUuTLigs are|-Claneand
SiLLsdlar paflusgiausms allersEs.



ASSIGNMENT -2

Max: 25 marks
Answer any one of the question not exceeding 1000 words
1. Discuss the functions of management accounting.

Cerarrento sanradlwietlen Liswt g6t @hlsg efleurl.

2. Debtors velocity 3 months Gross profit Rs. 4,00,000 Stock velocity 1.5
times Bills receivable Rs. 25,000 Gross profit ratio 25%
Closing stock is 20% more than the opening stock. Calculate :
(@ debtors and
(b) closing stock.

sLamall&eT 63Fs 3 TGhGET

Gwrss @eamrub em. 4,00,000

srsdmiy eiFs 1.5 sLamausar

Gwrés eoru elldlsn 25%

Qumeusn@Mw wrHm -G . 25,000

Aar_s&s sradmluenu el @midl sradlmuy 20% iflaswr@b. samss (hs.
(<=1) sLemaeflaer wHmibd

(<) Qnidl srssmiy.

3. Calculate break even point from the following : Sales 1000 units at Rs.10
each Rs. 10,000 PV ratio = 50%, Fixed cost Rs. 3,000 Find out BEP in
units and rupees.

Yetreu (b GaelcgeneT GlsmeiT(h @eru— Bl L mHn Lereatlenw senrddl (Hs.

allpuener 1000 @@ @adr @h <10@&SHE ah. 10 aigb ¢r.10,000 @eoru jerey eNfsibd =
50% Blemevwiren L&asbd ap. 3,000 BEP  wlleir «je0@sselr mmib Gerenaudled senrdhd(hs.

ASSIGNMENT — 3

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. A company proposing to expand its production can go in either for an
automatic machine costing Rs.2,24,000 with an estimated life of 5 years or an
ordinary machine costing Rs.60,000 having an estimated life
of 8 years. The annual sales costs are estimated as follows:

Automatic Ordinary
machine machine
Rs. Rs.
Sales 1,50,000 1,50,000
Costs :
Material 50,000 50,000
Labour 12,000 60,000

Variable OH 24,000 20,000



Compute the comparative profitability of the proposals under the pay-back
method.lgnore income tax.

e Blmwbd serg 2 husdeear CAums@shsrer graflwumd @uibdr wdiy es.
em. 60,000 g6 2 anipliL) &Teld 8 yeT(hEeT eTar @) Sl L kisenerd O et (heTens).
@hs Hlmwsder erdfurTasiURL Hear@h efihuemear HMD ST L Ssellanaset

@ﬂ%’gr@ﬁgm o @i &STeb 5<BEMH DD FTSTrewHT Quipdly wdliiy

el wnigl SITG T [T600T

Qupdrn  Gupdr

€. (.
. 1,50,000 1,50,000
elilhLiene
3L&sellenay |
. o 50,000 50,000
el LT mETS e
e 12,000 60,000
24,000 20,000
wrmu@ b Copblawea|ser

oy @UUAL[Hé sansdligemer Smbu Qumib sre wenuild sarsd(Hs. eupTe
aufluflenan seflTdse]Lb.

2. Sltd. is considering to select one of the two projects X and Y, each requiring
investment of Rs.40000. Cash flow estimates for 15 years are as follows:

Situations Project X Project Y
Worst Rs.6000 Nil

Most likely Rs.8000 Rs.8000
Best Rs.10000 Rs.16000

The required rate of return is 10%. The present value of an annuity Re.1 for 15
years at 10% is 7.606. State which project is more risky.

S ererm Elmiod SCY STl XI|0g Yererm esmegl e SHLSms e5.40,000 pseSi (Gt
QgrLmidlermed 15 gy m@ ST QT 2 aTGarT LI SipaiLomm:

STETUTT S oS 1pw opemT® ai'le aldlgn 10% I Lesmeanriug 15 gLemiGeEEsE 10% Iy 66
wdliy em.186@ 7.606 e85 S L 9idls @ILT 2 areng) aaTumEs GgeaflejuBSSaLn.



Fim  x gLy

nilemeus e
S (ex) (ex)
Glom&Lomeor 6000
THITLIMIT &8 & n_lp Wl 8000 8000
Hes A 10000 16000

THTUTTSSSE 19 emT(H ol le alSlgn 10% I Lsusmemriitiy 15 g mTOEERSE
10% gyewi® Wiy em.16@ 7.606. aB5s5 S LD s QLT 2 aTarg serLmss
OgeflaubSsaL.

3. From the following information prepare schedule of changes in working
capital statement.
Balance Sheet

Liabilities 2012 2013 Assets 2012 |2013

Rs. Rs. Rs. Rs.
Share capital 600 800| Cash 60 180
General reserve 200 100| Debtors 150 200
Profit and loss a/c 60 120 Bills receivable 60 100
Creditors 60 200| Inventories 300 390
Bills payable 30 70| Fixed assets 380 420
950, 1,290 950, 1,290

Ep&sramid sseue) Caram(h WwrmuGb B (pan (Pposedlmar idldmauianer swimr

QFuIs.

Q@ flew @ity
2012 2013 2012 2013
Qurmtiser Qe g Gaer

LIMIEE, (LPGeD 600 800Qprs&sh 60 180
GQurgls sy 200 100sLawmeflser 150 200
Georu Bl &/ 60 120Q@u.m 6 60 100
& L_GOTITGT T &G 60 200s788l @iy 300 390
Q&. r.& 30 706enavs Carsgasar 380 420

950 1,290 950 1,290
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ASSIGNMENT -1

Max: 25 marks
Answer any one of the question not exceeding 1000 words
1. A trader has not kept proper books of account. The following balances are placed before

you and you are required to prepare a Statement of Profit and Loss for the year ended
31° March 1999 and the Statement of Affairs as at that date.

Particulars 1.4.1998 1.4.1999

Rs. Rs.
Cash in Hand 5,330 5,400
Bank overdraft 45,000 40,000
Stock in trade 59,350 62,200
Sundry Creditors 38,600 37,200
Sundry Debtors 30,200 29,800
Bills Receivable 42,400 40,800
Land and Buildings 53,000 53,000
Furniture and Fittings 4,600 4,600
Bills payable 62,000 58,000

Drawings during the year amounted to Rs. 6,000. Depreciation is to be calculated on Land
and Buildings at 2% and Furniture and Fittings at 10%. Provide for doubtful debts at 2%2%.
G awrumrshed  (ponwurs  SmsGST  masdHhessalome. Sty  sriuC(HeTer
elwrurySdledl g Sieurg leneenn gflEmawd, rUGmSWD S6uordhSlLajL.

1.4.98 1.4.99

RS. RS.

aWlmiy Qrrésid 5,350 5,400
suricsl GLoed eusmTLILMM) 45,000 40,000
TS|l 59,300 62,200
SLaleaTT S 38,600 37,200
sLemeflser 30,200 29,800
ouTeS G 2 suTig &6 42,400 40,800

fleotd LoAMILD &L gL L 53,000 53,000



SHETEUTLLD 4,600 4,600
QeasanGfi 2 swiewie&s 62,000 58,000

BLOY eu@pl TR e5.6,000, Hleod mmid &lipl b g Cailworeard 2 ggaisn wmmyib

soreurL_gdler g1 10 &5aI5LD sald. QUSSLET ST 2 1 565 GHUBHSSML.

2.

State the method of calculation of fixed and fluctuating capital account method with the
help of assumed figures.

Elenev (Lpsed LHmId LIMLELD (PSe SamdGseT Swrflésiu@in CuTisl, epager sl
SenTSS|(HL QFwWa(pmmEmIL SHUMmET CSTEmSEmIL melSg) alleTdsea|L.

What do you mean by liquidation of a company? Describe the different methods of
winding up.
Blmiog e sHemeuliL] eTaiTmmed 6TeuTenT ? SemeulidlerT Liew uemE&ESHemeT elleuifl.

ASSIGNMENT = 2

Max: 25 marks

Answer any one of the question not exceeding 1000 words

1. What are the differences between single entry system and double entry

system?

g@nenn Udle] (pansEd @il udle| Wpennss@b 2 arer CoumimH&6T wrene?

2. Explain the methods of computing human resource accounting.

OGN SEET HETEMS HETES (HLD (LPEDSHET 6l aTdHEs5.

3. The following are the balance sheets of H Ltd. and S Ltd. as on 31.12.2016.

Liabilities H Ltd. S Ltd. Assets H Ltd. S Ltd.
Equity share 1,00,000 50,000 Sundry assets 65,000 60,000
of Rs. 10 each Investments
Profit and loss A/c 20,000 5,000 5000 shares
General reserve 10,000 4,000 inS Ltd. 75,000 -
Creditors 10,000 1,000
1,40,000 60,000 1,40,000 60,000

H Ltd. acquired the shares of S Ltd. on 31.12.2016.
Prepare the consolidated balance sheet.

31.12.2016-1b mrewemuwt @ Ll Blened@miLi] emeumomm) :

Qurpiliyser Hefl. Sl Qarggisaer Hell. Sedl.
@5. 10 whiyerar ubhLe

gy amr Qerggisaar 65,000 60,000
LAY 1,00,000 50,000 s :
QaruplL &/G 20,000 5,000 S SIAQLL1gé 5000
QurgissTiLy 10,000 4,000 ukiGsar 75,000 -
sLathCHTT 10,000 1,000

1,40,000 60,000 1,40,000 60,000



H bl S ldiger umi@seer 31.12.2016 oemm  evswsliubhsSwug.
(hidlameanhs QUL Hleanwd @olulameand swimi Cguis.

ASSIGNMENT -3

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. Explain the different methods of Inflation Accounting.

LanTei&s Sanrdand sanrés (M LG (pennasamar aNlerdEs.
2. From the following information, calculate value of goodwill by three years purchase of
super profit.

a. Net trading profit of the firm for the past three years Rs. 1,07,600, Rs. 90,700
and Rs. 1,12,500.

Average capital employed in the business Rs. 7,00,000.

Rate of interest expected from the capital 5%.

Remuneration to the partners, Rs. 12,000 p.a.

From the average profit Rs. 12,000 annual rent of own building used for
business was not deducted.

cooo

Qesreu(mLd efleurmisenars Qarar(h perodiilamer 3 UL 2iES @ wpennuded
Sanr(HLdlig..

a. sLbg S yarhsetle Blar edwmrum @eruniser wpenmGuw ep. 1,07,600, em. 90,700, .
1,12,500.

Qgmleded nwearLhSSw sTrafl s em. 7,00,000.

P& g erliumiiiy el g 5%

gal_Lmetlgafler bLeTd ,er(ha@ ep. 12,000.

Mlwurumgglnars LweauhSHw QerThss sLig L Ssnarear aur_amg . 12,000-1b

®cooo

srrafl @eorugsdedl(mbg slsslinLebldene.

3. Mr. Subramanian commenced business on April 1, 2010 with a capital of Rs.
2,00,000. He immediately bought furniture for Rs. 40,000. On 30th September 2010 he
borrowed Rs. 1,00,000 from his wife at 9% per annum (interest not yet paid) and introduced
a further capital of his own amounting to Rs. 30,000. He drew at the rate of Rs. 6,000 per
month at the end of each month for household expenses. On 31s: March 2011, his position
was as follows.

Cash on hand Rs. 4,000, Cash at bank Rs. 52,000. Sundry debtors Rs. 96,000, Stock Rs.
1,36,000, Bills receivable Rs. 32,000. Sundry creditors Rs. 10,000 and owing for rent Rs.
3000. Furniture is to be depreciated by 10%.

Ascertain the profit (or) loss for the year ended 31-3-2011.

2010, gure 1-& &ulweflwbd ereueut . 2,00,000 wpsd@h OCelg eNururisens
QarmdlermT. Seuir o Lanqgwrs . 40,000 oewpsoer eurmidlermmt. 2010, Qe bur 30-6
Sjeur e enemadludlL_L8l(mHbgl



1,00,000 sLer oummilarTi. sSLaG@ WTHEG 9% eully oem®. (eully Geranid
Qar(hssiuLcloame). sm{Hse Wad h. 30,000 Coaib waed(h Caugrr. aCeurm wres
senLSudaiid ser CeThs CFwe sars 6,000 er(hssis ClamerLmi.

31.3.2011 jeurflan flenavento Epau(mLommy :

Qrrés ensudmLiLy em. 4,000, cumidludl@piiy Qrmssb er.52,000, upue sLerreflser em. 96,000,
aradmuy 1,36,000, QuoisH@iw wrpmed’ @ ep. 32,000, upue sLafbCsm ep. 10,000,
QarHuL Ceusrigw curLens , ¢5.3,000, Sienpaeer g 10% Cauinrard saréd (Hs.

31.3.201160 @eomrul pLL_Sngd SewTdsl (Hs.
ASSIGNMENT -4

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. What are the objectives of accounting standards?
SEUISEIL HTSHH6TT CHTHEHHMISGET WITEM6EU?

2. XYZ company Ltd. made a public issue of 20,000 equity shares of Rs. 100 each at a
premium of Rs. 10 each. The amount payable is as follows : On Application — Rs. 25; On
Allotment — Rs. 35 (including premium). On first call — Rs. 30. On final call — Rs. 20. All
the shares were subscribed. When calls were made, except on 100 shares of Mr. Kumar
who failed to pay first and final calls, all moneys were received.

The company has forfeited these shares and reissued at Rs. 75 each as fully paid up.
Give the necessary journal entries and the balance sheet.

XYZ sw@uei . 100 aigb 20,000 uki@smer ep. 10 weaanosdad Qeualuilihdpg. @ams
MerentiLg QsTenswTs h. 25-1b eg&sSligear Curg . 35-b (et Carsg) s
Sanplidled em. 30-1b, @miFl Sepliba . 20-1b 9,8 eiSs Couam(HLd. TEIGT LIMkIEEHEHLD
almmiedlLer. 100 Lki@Gsamer epaudgerer GWTT WL (HD (PS> wHmID @mid enprilnasrer
Qsrensews Ceqsselaana. erarGeu ML Djeung LURGSmer enlbpiy Cewg el 6
ey Sjeupenp ep. 75 eisd ppewwrs Qeassiiul L ukists oy Geueluih CFuisg.
GMUGLLIge ugley Qelig QL Blanews Gllienus swmT ClFus.

3. Differentiate between the following approaches suggested for valuation of human
resource.
a) Historical cost approach and Replacement cost approach.
b) Net benefit model and certainty equivalent net benefit model.
c) Opportunity cost approach and Standard cost approach.

AewTeu(mld 2i6miES(pemmesatler CoimLm L& & mis.

I uTETHN) I S&5alme ISP LNHMILD LY Iiene| &S5l IemESLpsmn.
3i. Blar wdliy wrdfl womib sr swworer Ky wliy wrSfl.

Q). sHESTILSMS L8 allme iGN LHNID ST L& alme IS (Lpsmm.
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ASSIGNMENT -1

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. Explain the major pricing objectives.
YsS aleme Hlijemmus GsTeTamasmer allers@s.
2. Explain the various values that should be present in an advertisement copy.
slemiouy mEEedled @ bGILMID L eusmawTer Fmiy @wedLsemer allerd@s.
3.  Briefly describe the various levels of channels.
LOCeum eULPEISEED HlEnaEEETULD &H(H&HHTE adleuil.

ASSIGNMENT — 2

Max: 25 marks
Answer any one of the question not exceeding 1000 words
1.  What is customer satisfaction? Explain as to how it can be measured.

QUG EENSWITETIT DG HlenMe GTETMTE) GTET6N? <G| eTeLeUTm eTedlL_LILIL GQTLD eTeTLens
oNlemd@s.
2. What are the differences between wholesaler and retailer?
Q@rsg ellhuemenureThEELwD Hoeweann ellhHumeTnurerhEEwn 2 arer CeumLm(haeT WTeneu?
3. What are the advantages and disadvantages of marketing research?

Fbansui (Hens < LI6M 6T BeTenLd SENLOSEET WTen6u?

ASSIGNMENT — 3

Max: 25 marks
Answer any one of the question not exceeding 1000 words
1. Explain the various functions of sales management.
sllmuement Fljeursgdler Lellsemer allord@s.
2. Describe the various stages in new product development.
HgILQummer euerr&luderm LiGoum Hlancseanar aflafl.

3. Briefly describe the various levels of channels.

LeGeum cULPEISH HlanaseeT b &(Hasnrs edleul.
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ASSIGNMENT -1

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. What are the sources of primary data? Explain the different methods of collection of
primary data.
WP5® Hlevwd FsHeuadler epe YsT BmiseT wWreneu? pse Hlanews sseicsamer Casiflaen
uGaum (pennsmeT allaTsEs.

2. Differentiate between sampling and non-sampling errors.
wrdlfl ering UmpsEps@ Lrdlfl smrs toysepsE 2 arter CamLr@samer ailsulfl.

3. Calculate standard deviation from the following :
x: 145 155 165 175 185 195 205 21.5
f: 3 40 48 100 125 87 43 22
Yeieumeuameudmledlpbgl S allasssmss samsd (Hs

x: 145 155 165 175 185 195 205 215
f: 35 40 48 100 125 87 43 22

ASSIGNMENT — 2

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. A bag contains 4 white, 3 red and 6 black balls. Two balls are drawn at random. Find
the probability that they will both black and both white.
e erLiudlev 4 Qeuetenar, 3 HouliLy wHMID 6 SMILIL LbGISET 2 ememen. el (HHE 2 LIHEHISH6T
TH&SULNE DG Deueil LubgsEHD snuL BinwreaCer wHmb Geldreaer HlipwraCeur
QUHEUSDETET HlHLDSEH6| HTEHTs.
2. Calculate the correlation coefficient between the height of father and son from the
given data :

Height of father (in inches): 64 65 66 67 68 6970

Height of son (in inches) : 66 67 65 68 70 68 72



Epssam_ aleuphisalle(hbg shmssE WsEEEGL 2 6t 2 wnsHDEG Qe Cuwrer el (Hney
Q& (peneus Samradl (Hs.

Shangudler 2 WD (1 BIGaSH D ): 64 65 66 67 68 6970

waefer 2 WD (SBGosHe): 66 67 65 68 70 68 72

3. Describe briefly main types of sampling methods.
FLm{HSsdler LCaum panmaamears LnM eflelfss.

ASSIGNMENT -3

Max: 25 marks
Answer any one of the question not exceeding 1000 words

1. Describe the Chi-square test of goodness of fit.
s afsss GCorsmenlar domsssaromuow  alasEgs.  Igaemiw  uaGam)
2 LIGWITSEISMETS &n)5.

2. Calculate Karl Pearson’s measure of Skewness on the basis of mean, mode and
standard deviation.
x: 145 155 16.5 17.5 185 19.5 20.5 21.5

f: 35 40 48 100 125 87 43 22
Yemeupd edlaufmsatlellmbgl sried Gwrsaiear CarlL&0supaney sl (Hslraf, wpa® wHmib
L lewsssslen o liLenLuded sar(HLil..
x: 14,5 15,5 16.5 17.5 18.5 19.5 20.5 21.5
f: 35 40 48 100 125 87 43 22
3. Determine the regression equation of a straight line which best fits the data :
X: 10 12 13 16 17 20 25
Y: 10 22 24 27 29 33 37

sl eneu gflwrs QuTmbgem e CrTCar g6 ateareamL_ey Foearum el Sioreaflésse .

X: 10 12 13 16 17 20 25

Y: 10 22 24 27 29 33 37



